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- Grey line: exponential fit Peak flux: 5.006+/- 0.813 c/s/cm? —
L Black line: power law + gauss fit Fluence : 43.80+/- 5.35 c/cm? B
Dashed line: power law Duration 18. 204/ 2 60 s
— Best fit model: 2. —
- Best fluence model: 2. -
- } Best duration model: 2. —
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; Exponential fit é
= Expon.time: 4.98+/- 0.85s (chi*-red= 1.28) =
SR it il v B o bt b g H * :
= ﬁﬂwww +ﬁgﬁ+ﬂ+w HﬁH++“ﬁW+ﬁ *ﬂ*ﬂﬁﬂﬁﬂﬂﬁWﬁﬁwﬂ*ﬂﬁﬁﬁﬂfﬂjﬁ+ﬁ**H*JH*#WMﬁwﬁmﬂ#ﬁwHﬂj*+H++ﬂ:ﬁﬂ++%ﬁn+mjW*Mﬁ++ﬂ*ﬁWﬁWﬁﬂ%‘
= } =
; Power law fit é
= Power law index: -2.167+/- 0.241 (chi’-red= 1.27) 3
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—  Power law fit plus Gaussian (st.dev.= 42.46+/-27.79 s, fracgs= 0.28+/- 0.23) =
- Power law index: -2.601+/- 0.601 (chi*-red= 1.27) 7
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